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Algebra RH

Essential Questions: How do we solve equations involving decimals? How do we solve
absolute value equations?

Do Now:
(a) 0.04(100) = Ll

(b) 03(10)=_ 3

(c) 0.105(_1900 y:=105

Key Concept: | order to ‘clear” +he dQC/{'YYICL(/

maHfPIy by a power of ten.

Examples:

(1) 006x-1=02 (2)  0.12x-05=002-001x

[0O (0.0éx—l)- 100 (O. ) :oo(o. |2ax -0.5) = {oo(o.oz—a.mx)
(x-00 = 20 [2X - 50 = — X

_ = BB
U:E [3x = 5

(3) 0.002(x +5)=0.015 - 0.003x

235 = %7

lOOO[0.0oZ(x+5)j: looo CO-OIS-o.ooax) | 2i l
.-.\___-':7&-'1'

X* Lgooo)(O-OOZ)l(HS): |5~ D% ; :4, AL

Iz

Yy =
SR Tx=y

Jl(x+5>= [5 -3x
2x+10= 15 -3x
5x +10 = (5
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(=1



. Solving Absolute Value Equations

What is the value of x?

a. |x=5 b %x=5 c. |x+2/=5
X=5 5 X= |O X= 3 or x=-"7
X ?':.5 ’ 5} =h [3+2[=5 [-7+2]=¢
5= 5 Isl=5  [-sl-5
E 1o, ~10¢ |
-51=5 22,775
Key Concept: Given J ax + b , =
"N
ax+b =c ax+b = —c
¥ isolate absolute value exFr—ession
Examples:
4) x-2|=5 (5.) |[4x+2|=26
X-2=5 or X-2=°5 Ux+2 =20 or Ux+d =-26
N X=-3 Hx =24 4x = -28
57 -31 . X=6 x= -7
26,7 ¢
(6.) Px-7-5=4 (7)) 2/4-8x|=40
|ax-7]= 4 |4-82]= 20
2’&"7-‘30{ or 2%'7:":1 L{#gx: 20 oy L{'gxz—;ZO
A = 16 2= -2 T - §x=2Y
:8' = — ' _

{ 7,1 {n’z/z}



